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PAPER — VIII
Full Marks : 90

Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary

‘GROUP — A
Answer ény two of the foHowing : 15 %2

1. Critically discuss the Malthusian theory of
population.

2. Examine the problem of Secularism in India. |
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Write a note on the process of Urbanisation
under the British Raj.

Discuss the measures that you will suggest to
control youth agitation.

Write an essay on Globalisation.

Discuss how tradition and modernity are

intetwined with present day India Society.

GROUP - B
Answer any five of the following : 8§ x5

Discuss the relation between culture and fertility.

Write a note on post-Malthusian theory of
population.

Discuss the activities of the NGOs.

Examine the problem of Ecological Crisis in
India.

Discuss the importance of concentric zone
theory.
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12. Write a note on Mass Literary Programme in India.
13. Point out major causes of divorce in India. |
14. What are the basic features of urbanisation ?
15. Discuss 'Culture Shock'.

16. What is cultural modernisation ? Discuss.

GROUF —C
Answer any five of the following : 4 x5

17. What is social ecology ?
18. Define BPL (Below Proverty Line).
19. Define common property resources.

20. Distinguish between Westernisation and
Globalisation. -

21. What are the constraints on Family Planning ?
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22. What do you mean by modern values ?
23. What is the pull factor of migration ?
24. What do you mean by NGO ?

25. Define social problem.

26. What do you mean by Urban Ecology ?
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